
PHYS 172: Stellar Astronomy & Cosmology 

Final Exam: Thursday, May 8, 2025, 9 am – noon, room 110 (regular lecture hall) 
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G = 6.6743  10-11 m3/kg.s2 

1 eV = 1.602  10-19 J 

𝜎 = 5.67 × 10−8 W/(m2K4) 

ℎ = 6.626 × 10-34 Js 

𝜀0 = 8.85 × 10−12 C2/(Nm2) 

𝑐 = 3.0 × 108 m/s 

H = 22 (km/s)/million-ly 

1 ly = 9.4  1012 km 

mp = 1.67265  10-27 kg 

mn = 1.67495  10-27 kg 

me = 9.11  10-31 kg 

1 AU = 149.6  106 km 

MEarth = 5.97  1024 kg 

REarth = 6371 km 

MSun = 1.99  1030 kg 

RSun = 6.96  105 km 

LSun = 3.8  1026 W 

MMoon = 7.34  1022 kg 

RMoon = 1737 km 

 


